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Class : Primary 6/
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15 Questions
20 Marks
Duration of Paper 1 (Booklets A & B): 1 hour

Note:

1. Do not open this Booklet until you are told to do so.

2. Read carefully the instructions given at the beginning
of each part of the Booklet.

3. Do not waste time. If a question is difficult for you,
go on to the next one.

4. Check your answers thoroughly and make sure you
attempt every question.

5. In this booklet, you should have the following:
(a) Page 1 to Page 6
(b) Questions 1 to 15

6. You are not allowed to use a calculator.







Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each. For each question,
four options are given. One of them is the correct answer. Make your choice (1, 2, 3 or 4) and
shade your answer in the Optical Answer Shest. (20 marks)

1 80000 +4000+300+8=

(1) 84380
(2) 84308
(3) 84038
(4) 80438

2 How much water is in ihe.container_ shown?

(1) 200 mi
(2) 300 ml
(3) 400 ml
(4) 500 mi -

L 5
3 Which of the following is equal to 4 6 ?

M %
(2) &
3 &

4 5



4

Ali folds 10 stars in § minutes.

At this rate, how many stars can Ali fold in 50 minutes?
(1) 25

(2) 50

(3) 100

(4) 500

What is 15 minutes before the time shown on the clock?

(1) 1255
(2) 1325
(3) 1350
(4) 1420

A solid cuboid of height 10 cm has a square base of side 4 cm.
What is its volume?

(1) 40 cm?®
(2) 160 cm?
(3) 240cm?
(4) 400 cm?

10 cm

4 cm



7 Which line in the square grid is paraliel to DE?

AL
. , { T~ —

2T
N A S S
F SRR

(1) BF

(2) EF

(3) CD

(4) AB

8  Amange these distances from the longest to the shortest.

1.
1.15 km 1km 1056 m 1gkm
Longest Shortest
1
(1) 1km105m 1gkm 1.15 km
1
(2) 1km105m 1.15km 1-5km
1
(3) 1.15km 1km 105 m 13 km
(4) 1-5 km 1.15 km 1km105m



10

The table shows the number of red and blue balloons 4 classes bought.

Class Number of balloons
Red Blue Total
6A 12 17 29
6B 18 10 28
6C 14 13 27
6D 11 19 30

Which class bought the most number of balloons?

(1) 6A
(2) 6B
(3) 6C
(4) 6D

PQ and RS are straight lines.

Which of the following is true?

(1) za=cc
(2) «b=cd

{(3) <b++c=180°
(4) za+.4d=180°




11

12

13

Which figure has the largest perimeter?

1em
BLUEEREEEREREEE o 1] [ttem
(1 A
(2) B
(3) C
4 D

Jane received $120 as her bursary award.
She gave $30 to her father.
What percentage of the bursary award money did Jane have left?

(1) 25%
(2) 30%
(3) 75%
{4) 90%

A box contains red, blue and yellow beads. % of the beads are red.

There were twice as many blue beads as yellow beads.
What fraction of the beads in the box are blue?

(1)
(2)

(3)

D= WIN ©IN Ol

4)



14  Tim is to multiply a decimal by 100.
In a rush, he divided it by 10 and obtained 8.94.
What should be the correct answer?
(1) 0.894
(2) 894
(3) 894
(4) 8940

15 A bakery had the promotion below.

1 donut for $3.

Buy 5 donuts and get another 1 donut free!
Buy 8 donuts and get another 2 donuts free!l!

Pete left the bakery with 127 donuts using the given promotion.. .
What was the least amount of money he had to pay for 127 donuts?
(1) $303

(2) $306

(3) $375

(4) $381
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Questions 16 to 20 carry 1 mark each. Write your answers in the space provided.
For questions which require units, give your answers in the units stated. (5 marks)

16  Find the value of 10.21 — 7.89

Ans:
17  Find the largest muitiple of 8 that is smaller than 60.
Ans:
1
18 Find the value of % s
Ans:




19  Find «xin the figure below.

75 126°

Ans:
20 The figure shows a right-angled triangle.
Find the area of the triangle.
20 cm,
15 cm
25 &

Ans: cm?

2




Questions 21 to 30 carry 2 marks each. Show your working ciearly and write your answers in
the space provided. For questions which require units, give your answers in the units stated.

(20 marks)

21

(a) Name the smallest angle.

Ans: a) ¢

(b) Name the two angles that are greater than 90°.

Ans:b) ¢« and <

22 The line graph belbw shows the cost for the amount of overseas mobile data used.

48 1T
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(a) Ben used 1 unit of overseas mobile data during his trip. How much did Ben pay?

Ans:a)$

(b} Ali paid $28. How many unit(s) of overseas mobile data did he use?

Ans: b)

9 ]



23 A group of 50 students were asked to choose their favourite pet animal from Cat,
Dog and Hamster. The pie chart represented the students’ choices. .

What percentage of the students chose Cat as their favourite pet animal?

Ans: %

24 The figure is made up of two rectangles ABEF and BCDE. BC =ycm, CD =4 cm
and the area of ABEF is 3y cm?. The total area of the figure is 42 cm?.

A B y cm C
4cm
F E D
(a) Find the perimeter of BCDE interms of y.
Ans: cm
(b) Find the value of y.
Ans:

10 2 4



25 In a shop, ribbon was sold at $3 per mefre. Amy brought $30 to. the shop.
How much more money does Amy need to buy 10.5 m of the ribbon?

Ans: $

26  Seven landmarkson a map of an island are shown in the square grid below.

A B

. ; } : { :
O SN MU S S S

(a) In which direction is B from E?

Ans: a)

(b) Daryl is at one of the landmarks. He is facing D. When he tumns 45° clockwise,
he faces B. Which landmark is Daryl at?

Ans: b)

A A



27 A piece of paper in a shape of an equilateral triangle is folded along the dotted line
as shown below.

Find 2x.

Ans:

28 Two lines, AB and AC, are drawn inside a box.

(a) ACX is a right-angled triangle such that AC = AX. Draw ACX in the grid above.

(b) ABYC is a trapezium such that AC is parallel to BY. Draw ABYC in the grid above.

12




29  Jane had $50 more than Ray at first. After Jane gave some of her money to Ray,
Jane had $12 more than Ray. How much money did Jane give to Ray?

Ans: $

30 Mrs Li bought a piece of ribbon. She cut it equally into 10 pieces and each piece is

3
M long. Mrs Tan also bought the same length of ribbon. She cut it into equal pieces.

5
Each piece is i long.

(a) How many pieces of the ribbon would Mrs Tan have at most?

- Ans: a)

(b) What was the length of ribbon Mrs Tan would have left?

Ans: b) ' m

" A
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Questions 1 to 5§ carry 2 marks each. Show your working clearly and write your answers in the

spaces provided. For questions which require units, give your answers in the units stated.
‘ (10 marks)

1  Esther paid $46.60 for 10 similar pens and 12 similar files.
The total price of a pen and a file was $4.

(a) What was the cost of 1 file?

Ans:a)$

(b) What was the total cost of 15 pens and 12 files?

Ans:b) $
2  Acube is shown below.
Which of the following is/are net(s) of a cube?
A B C D
Ans:




3 Chang Min drew three squares to form a figure. The ratio of the area of the squares
were in the ratio of 2 : 7 : 15. She then shaded some parts of the figure as shown
below such that the area of the unshaded part is 35 cm?.

What was the total shaded area of the figure?

Ans: cm?

4 James and Ali jogged from the same starting point. Both went in the same direction
and did not change their speeds throughout. At 07 00, James started jogging at
7 km/h. At 07 15, Ali started jogging at 12 km/h. How far apart were they at 07 457

Ans: km




5

The figure shows a tank half-filled with water with 3 taps A, B and C.

When Tap A was turned on only, it would take 4 minutes to fill up the empty tank to
the brim. When Tap B was tumed on only, it would take 6 minutes to fill up the empty
tank to the brim. When Tap C was turmed on only, it would take 3 minutes to empty a
full tank. Ali turned on all 3 taps at the same time. How long would it take to fill the
half-filled tank to the brim?

Ans: ) min




For Questions 6 to 17, show 'your working clearly’ and. write’ your answers in the spaces
provided. The number of marks available is shown in-brackets [ ] at the end of each question
or part-question. (45 marks)

6  The figure below shows two identical equilateral triangles EFG and FHJ. EKJ is a
straight line and 2KFJ = 86° '

E

G J

(a) Find £FEK.

Ans: a) 2]
(b) Find EKG.
Ans: b) (1]
3




7  Three students-collected plastic boitles:for-recycling.-Kim collected-m bottles fewer
than Siti. The table below has partly recorded the nqmber of plastic bottles coliected.

Student Number of plastic bo‘_ftleé
Paul S 4+m )
Siti _2+3m
Teta! 7

(a) Fmd the total number of plastic bottles coliected by the three students. -
Express your answer in terms of m. .

Ans: a) f2]

(b) Given that m = 12, find the total number of plastic bottles collected by the three
students.

Ans: b) (1]




8  The bar graph shows the number of fruits sold by a shop.

80 ——--~
+
60 —E:-
Number of :':_ _
fruits 40 _-.-:1}_ B N
20 =~
T+
0

Apple Orange Pineapple Mango
The table shows the price of each fruit.

Type of fruit Price per fruit
Apple ~ $0.55
Orange $0.70
Pineapple $2.20
Mango $1.40°

(a) What fraction of the fruits sold were cranges?
Express your answer in simplest form.

Ans: a) 1]

(b) From the sale of which type of fruits did the shop collect the most amount of
money? What was the amount of money?

Ans: b} Type:

Amount: 2}




At a marathon, each participant completed either a 10-km route, 20-km route or
50-km route. The pie chart shows the number of participants for each route for men
and women. There were 3 times as many men as women who took part in the
marathon.

(a) What was the ratio of the number of men who completed the 50-km route to the
number of women who completed the 50-km route? Give your answer in the
simplest form.

Ans: a) [11

(b) The total number of participants is 160. Find the total distance travelled by all
the men.

Ans: b) 2]

(c) What was the average distance travelled by each man at the marathon?

Ans: ¢} [1]




10

‘During a Math test, the average mark:for a class.of students was-81 marks. When
-four students with an average of 64 marks were excluded, the average marks for the
_remaining students in the class would become 83 marks.

(@) What was the total number of marks of the four students that were excluded?

Ans: a) [1]

(b) _Find the total number of students in the class.

Ans: b) (2]
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Sally had some gold -and silver balloons for her birthday party. On Monday, she
bought an additional of 210 gold balloons such that 30% of the total balloons she had
were silver. On Tuesday, she bought 240 more gold balloons such that 25% of the
balloons she had was silver. -

(@) How many silver balloons did Sally have?

Ans: a) [2]

(b) What was the percentage increase of gold balloons after her two additional
purchases of gold balloons on Monday and Tuesday? Leave your answer {o

1 decimal place.

Ans: b) £2]




12 The figure below is made up of a trapezium ABCF and a triangle BGH.
<DEH = 128° and £EBD = 12°.

A . N | B

(a) Find ZABE.

Ans: a) [11
(b} Find £BGH.

Ans: b} 2]

{c) Each statement below is either true, false or not possible to tell from the
" information given above. For each statement, put a tick { ¥ ) to indicate your
answer. " (2]

- (i) BCD is an isosceles triangle.

(ii) EBC is an isosceles triangie.

(iii) ABDF is a parallelogram.

10
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Mr Lee bought some food for a party. % of the food bought were sausages,

-2% of the food bought were nuggets and the rest were crabsticks. A piece of sausage

cost 3 times as much as a piece of nugget and 4 times as much as a piece of
crabstick.

(a) What was the ratio of the total amount Mr L.ee spent on the sausage to the total
amount spent on the nuggets to the total amount spent on the crabstick?

Ans: a) [1]

(b) MrLee spent $63 more on buying the sausages than the crabsticks. How much
did Mr Lee spend buying all the food?

Ans: b) {21

11



14  Figure 1 is made of a three-quarter circle and a square. '
Figure 2 is made of 3 identical pieces of Figure 1 without overlapping.

Figure 2

Figure 1

32 cm

(a) Find the area of Figure 1. Take = = 3.14

Ans: a) [2]

(b) Find the perimeter of Figure 2. Take n = 3.14

Ans: b) {2]

12



15 Rajoo formed a block and solid A using 1-cm wooden cubes.
He then painted all the faces of both solids.

side
view

/; solid A

front view

block

(a) At most, how many solids A can be formed using the 1-cm cubes from the
block?

Ans: a) [2]

(b) Find the smallest number of 1-cm cubes that should be added to solid A so
that the new solid has the same front view and side view.

Ans: b) (1]

(c} Rajoo sorted all 1-cm cubes from the block and solid A according to the
number of faces painted.
(i) Find the number of cube(s) with no faces painted.

Ans: c)(i) [1]

(ii) Find the number of cube(s) with 3 faces painted.

Ans: cXii) 1]

. ]
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Aishah used identical squares to form figure 1. She used identical figures 1 to build
other figures as shown.

- ?
IS cm

Figure 1 Figure 2 Figure 3 Figure 4

(a) Aishah measured the distance between the top and the bottom of each figure.
The height of Figure 1 is 8 cm. Find the distance between the top and the
bottom of figure 4.

Ans: a) [1]

(b) Find the distance between the top and the bottom of figure 10 as shown below.

S

Figure 10

Ans: b) [1]

14 2



16  (c) Using the diagrams on page 14 find the area of
(i) Figure 2. '

Ans: c)(i) (1]
(i)  Figure 25.
Ans: c)ii) [2]
3

15



‘17 Mrs Shirley had red and g'reen apples for sale. % of the apples sold were red.

hee
She sold 240 red apples. She also sold % of s apples. % of the apples left

unsold were green. How many red apples did Mrs Shirley have for sale at first?

Ans: [3}

16 3
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Name. N ) Pe

Questions 1 {o 10 cany 1 mark each.Questions 11 to 15 carry 2 marks each. For each question,

foLr options aré given. One of them Is the carrect answer. Make your choice (1, 2, 3 or 4) and 4 Al folds 10 stars in 5 minutes.
shade your answer in the Optical Answer Sheel. (20 marks) At this rate, how many stars camAli fold in 50 minutes?
. (1) 25 Swin = 10 shars
. . *lc X lo -
1 80000 + 4000 + 300 + 8 = (2) <o =~
——— e e et . 'W
(1) 84380 . © 500
(2) 84308 v ﬂj (3)
(3) 84038 . .
(4) 80438

M/l“.wzcam before the time shown on the clock?

\\\.

2 How much water is in the container shown? H _;01.} 21310
3) 1350
(1) 200mi S 8 ) TIT
4) 1420 2
{2) 300 ml — §5 1200 1310
(3) 400m v
(4) 500 ml fA | (1)

L. b

ight 10.cm has a square base of side 4 cm.
? A A

10 cm
o ¥ Uy
26 :
2 T %
@ 8 @/Uw 4cm «
» 2y V= 4xhxio (2)
48 i = 16%10
@ g Dem®
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Which line in the square grid is paraliel to DE?

g The table shows the number of red:-and biue balloons 4 classes bought.

YT 5 I T Class i Number of balloons
S W - A N 88 {™Red Blue Total
6A 12 17 28
-A D 6B 18 10 28
6C 14 13 27
oY S MR S v 6D 1i 1 30
T I =y g Which clay€ bodght the most number of bafloons?
T o
o ek L o
(af BF DU (4
2 EF
(3} €D .
4y AB
AF/
Arrange these distances from the longest to »rmﬁﬂr
t¥m 150m 4 _
1.15 ki 5 - s =
m 1km 106 m 1z km @:
Longest Shortest 2
1
(i) 1km105m Qmwﬁ 1.15 km \
1
@ 1km185m 1.15km 15 km /.0
| <
@) 1.45km 1 km 105 m 1z km % (&>
1
(4) Amxg 1.15 km 1¥km10Em



1 Which figure bas the argest peimeter? lem 14

12

13

Tim is to multiply a decimal by 100.
in a rush, he divided it by 10 and obtained 8.94.
What should be the correct answer?

(1) 0.894 [P] # 100 = ans
(2) 89.4
@ o [o] +10=%93%
4
A @ (4) 8940 @ = &Q. 4 Awne = 8G. 4 m o0
@ 8 @@ HWQM*\M,U\. Ab,vv
 C ery §ad the promotion below.
“ 0

1 donut for $3.

Buy 5§ doauts and get another 1 donut free!
8 donuts and get another 2 donuts free!!

Jane received $120 as her bursary award. D\v

She gave $30 to her father.
What percentage of the bursary award money age Have left?

(1) 25% F*.._‘ (208- Pete left the b. Q wiglr 127 donuts using the given promotion.
@ 30% o:m.s-_ XiIBO0% = \@ What was the | a of money he had to pay for 127 donuts?
(3) 75% v (1) $303 m & free 2 = lset of IO
(4) 90% .Aw @ $306 V' S free | = lset of 6
6 (3) $375
) $381 8 1272120 +6 | (2)

A box contains red, blue and yellow beads. me s are red.

There were twice as many biue beads as <o_

Uy v LN

/. 12 gets lset  ldowat

What fraction of the beads in the box are blue? of 1O of ¢
(1) M v «aL plus Mn:gs \C
2) 2 \\“\\u“Mr r/..’/~/¢_\r)mu~ A&u of 1D —NXAWN%WV
9 =
2 Bta 4 @ 2 X324
@ 3 Ttal = q -498%
w ¥ Total = $288+$15+% 3
W 1 Isetof 6 = | R(5X$3) =$3p¢
= 1 x$I5
=315
10 - 33

G

wn



Questions 16 to 20 carry 1 mark each. Wiite your answers in the space provided.
For questions which require units, give your answers in the units stated.

(5 marks) 19 Find 2x in the figure below.

@ . : .. .Nmo ._wau

16  Find the value of 10.21 -- 7.88

\153
0°N~

N
m\
q

S5 \©

>

17 Fing the largest muitiple of 8 that is smailer Bmz@

8,16,24,32, 48, mm 64

rA Ans: 159 °

20  The figure shows a ngfit-angl ngle.
Find the area of the lrihngle.

A
4

Z

8 Find the value of = x

©
i
w

o
A\
O

Ans:




Questions 21 to 30 carry 2 marks each. Show your working dearly and write youranswers in 23 - -A group of'60 students were asked toichoose their favourite pet animatl fromi'Cat,

the space provided. For questions which require units, give your answers in the units stated. Dog and Hamster, The'pié chart-rapresented the sludents’ cholcas.
(20 marks)
21
Y NO .
\ j00% = PYCTTY K IO0K
= <22 12 e
7 2% x100%
’ 8 = 6% 7 Ans: __ i1e] , %
\k’? - M : _ :
22 The line graph below shows the tost for tha ampumof overseas mobile data used. 24 The figure Is madewup pFfwo rectangles ABEF and BCDE, BC =y ¢m, CD = 4 cm
graph below shows the cost fo ﬁ? © ; and the area of AJEF T-Sy-cm?. The tnlalmveRrfheiui s HETER?,
s ycm c
4
2 4cm
ML o R e ks ’
Cont($) 24
D
18
*m» (a) Find the _:namﬁ&” DE interms ofy. = - -
4 TRt 4t 4 s
0

2
kicao«ocg-aggﬁana

(a) Ban used 1 unit of cverseas mobile data during :_m% mdich dithBen pay?

Ans: a) §,

: = '1
. . _ . Ansi__ 24+8® o

y nd e Rofy.
o= 3y +4 Xy ) Ty 42
(b) Al;naid:$28. How many unii(s) of overseas mobile data did he Use @ h m @ ’ =3 .u+ by &.\. 427

Ans:b)__ & =Ty Ans: [

\




25 in 8 shop, ribbon was sold at $3 per metre. Amy brought $30 o the shop, 27 Apiece of paper in a.shape of an equilateral triangle is folded along the dotted fine
How much more money does Amy need to buy 10.5 m of the ribbon? as shown below.

Im 743
10.56m >33 X 10-5
2431.50

;«NMMM& 5%31-50-830

- ° L [ ]
=$1-50 L1760°-21-21

- - /l\l\\'llv

60— 42

=18

\j . ~ W ]
26 Seven .m:aam«xm ona smu oﬁ an Em.a are shown inthg square grid below. & Ans: )
mi:

28  Twolines, ABand >o’ inside & box.

NEREII e\
v 2

I gy \
(8) tn which direction is B from mﬂ . ,/O

Stort

(b) Daryl is at one of the landmarks. He is§agihg:D. When hed
enTauEEs. Which landmark Is Daryl at?

\

W @ A WE AC right-angled triangle such that AC = AX. Draw ACX In the grid above.
Ang: b) E m N\ m ,

(b) ABYC is a trapiezium such that AG:Isiparaftél1e:BY; Draw ABYC in the grid above,

£ Nt o wp.,p_EowB.s

’ 4
11 6 12




29  Jane had $5C more than Ray at first. After Jane gave same of her money to Ray,
Jane had $12 more than Ray. How much money did Jane give to Ray?

pe
T s $506 ] )
R [~~~ UchmO\w_U
Aftes | .. N mmwww ,u o
T | Aree) E L - @
Al #~ HF_D ﬂ)@

Ib s

A]

. - 4
30 Mrs Li bought a piece of ribbon. She cut it Béuc&c eces and each plece ls

3
z miong. MrsTan aiso bought the same length 8Tribhon, She cut it into equal:pleces.

(8) How many pieces of nnzo ribbon wouid Mrs Ypn
Ribbon > 1B X E,

F%*H.W.O*.O WNOB
n.W_X.ﬂlﬁ
s X

T Em

13




Questions 1 to 5 carry 2 marks each, Show your working clearly and write your answers in the 3

spaces provided. For questions which require units, give your answers In the cﬂw mnm"xmﬁw
marks

1 Esther paid $46.60 for 10 similar pens and 12 similar flles,
The total ptice of 8 pen and a file was 4.

{8) What was the cost of 1 flle?
P+ IF-28H

So WOP+ OF -5 34D
0P + \2F —p $H6-60
A > $Hb-bo ~ FUO

9,
e oyl

(b} Whatwas tha total cost of 15 pens and .‘m@

PrHiEss Syt
P> §4 - $2:30 = $O- %0

2p-5> $0-ToX 3 = $2:10

= $50 .10

w2085 mMM@,

Chang Min draw three-squares fo form a figure. The ratio of the area of the squares
were in the ratio of 2: 7 : 15, Sha then shaded some parts of ike figure as shown
below stich that the area of the tinshaded part is 35 crm?,

P b

¥
gl

Ans; UM\Q cm?

MUJ Ans:bys_20- 10

4
2  Acube is shown below.

Which of the followlng Is/are nel(s) of a cube?

_ ] .

Ans; > 1 D

seds throughout, At 07 00, James mﬁa& jogging mm
Jogging at 12 kan/h, How far apart were they zt 07 457

%ﬁtnlv.«)ﬂ‘m!‘mtw\v Uu\,.\m.ﬂ

0345
) = 538

DW= §-5.25 =015

Oo Hm;m km

Ans:




5 . Thefigure showsa tank haif-filed with 5@.%38?? BandC.” ! For Questions 8 to 17, stiow your working dlearly and write your answers in the spaces
. e . provided. The number of marks available Is shown In brackets [ ] at the end of each quastion
roncy

_ or part-question. {45 marks)
TapB '
S 7 Ful Yok
K 120 6  The figure below shows two identical equilataral rigngles EFG and FHJ. EKJ s a

A straight fine and 4KFJ = 86°,

HRO\ST 03 to empty a
,..;:mxﬁoz_:zm

) . m,&@f@ ot
/@ f.. ~bo =
CCoLcRE%T e

—

o
Ans: b) L. um. [1]
Ans: F min

9 ‘Hm‘
3 4




7

Thres students collected plastic botties for recycling. Kim collected m bottles fewar
than Sitl. The tabla below has partly recorded the number of v“mmzo bottles collected.

(8) Find the total number of plastic bottles collacted by th
Express your answar in terms of m. AQ

m => 243m-m = 2+ UDU

w2+ 2m4 2+ 2 +8

NP
Aﬂsmu ) b + 8 (2]

(b} Given that m =12, find the total 2562 bottles collected by the three

students. 2
bxia +8 @
<

F3+8
= &0 g
/Oﬂ

8O-

Ans: b)

Student Number of u_a&o bottles
Paul 4+m
Siti 2+43m
Kim ? .
Total ? g@@

- 8 . Thebar graph shows Em number of frulls.seld by-a shop. -

Number of.
fruits

Pinespple  Mango

Q >nEm Orange
The »m V.\ .nnoo of mmo: :::

K / Pno al:& -~ . _|“ " -~ Price perfruit .
an@m% 80155
Mirange 0.70
\ Fiffeapple . $2.20
ngo $1.40

{a) What fractioh of ¢he fruits sold were oranges?
mxuamw <o answer in aau_mﬁ form.,

109 n

Ans: a) 4 1]

a@g typs of fruits did the shop collect Ea most amount
£

he amount of money? ¢

55 X80 = f+
.J.x 4% = 336

a ,§ 9.0 %24 =523

U N> Ly X¥o= 5 &
Ans: b) Type: ?Smm_G
Amount: ,.w mmv 2

10



8 At s marathon, sach parficipant completed eithar 8 10-km route, 20-km route or i 10 During a Math, test, the average mark for a class of students was 81 marks. When

50-km route. The pie chart shows the number of participants for each route for men four students with an average of 64 marks were sxcluded, the average marks for the
and women. There ware 3 times as many men as women who took part in the ramaining Students in the class would become 83 marks.
marathon, : '
, (8) What was the total number of marks of the four students that were excluded?
k¢ Boou : L ol L 00U
”Zuo,. Mo Wi 1ot Wseo
C 180 H 23 gwi = 256

Ans: a) 256 [1]

ca of students In the class. Mexhod |

Men (300WU)

(8) What was the ratio of the number of men
number of women who completed the 50-

sive your answer in the

simplest form, AP rf - WN&
Mgy : Wso < A B - 256 =b% (fov redistibution)
MM : m% _ 4» 83-8{= 2 )
\ 68 -2 =3k
(b) The total number of participants Is 160. Finglthe tptal distance travelled by all
the men, 8 w FY*I ~+ - ww
Hoou = 6O ol di + (30x50) A
Mo 169 = (pxie) TIRR20) ol feod 2
o ﬂl:oOX 4y = \® = 3120 \ ;

HH0

Mgt 82y 35 = : e
50 - ¥ 30 Ans: b) 2 (2]

(6) What was the average distance travelled by each man at the @ o/ @
Yoo Ww 2822 434 = &3

Now » 182 180 =T /.0\

No. 6@ men >—ggpx 300 = 136

Me Lst=> 3B0 - af
20

A Y Ans:b)____ 38 @

7 4 i} 8 3




11 Sally had some gold and stiver balloans for her birthday pary. en Monday, she Am The figure below is made up: of a trapezium ABCF msn a Emzma BGH,

bought an additionsl.of 210 gold balloons such that 30% of the total balloons she had © ¢DEH=128%and LEBD'=142°, "
were sliver. On Tuesday, she bought 240 more gold-baticons such that 26% of the B 180~ g4 -52
bafloons she had was silvar, A > 12 =82
(a) How many silver balloons did Sally have?

Mothpd | q Metia mul_ a

T Q0 U e [TV 4 : v

SR fettoton o/ e
210 ] 240 ] > :
. /D
G 128° /n (%0~ mu CH = b4
s 1 3
b °
3ou @\ e
. I 0
20u = 240 . e
lu = akkot20=12- \
3ou = (AX3b =380 . Qw .wot,,w@w/u‘
: Yy L 53.°
(b) What was the percentage increase of’gold baljoons after her two additional ot Ans;: a)
purchases of gold balloons on Monday ahd T baday? romi your answer 1o
1 decimal place. : . Find 2BGH.} - 6

No.of & ar firet = mrmU . :
Totut added = 2ip +»- 2; . 18017 r@uﬁ:r

9 Cue®

2]

50 o ALY ~ Ans:0)..

630

%\b\

caoi I8 either true, false or not uommwzm to a_, from th
above. For each siatement, put a tick { ¥ ) to indicate you

2]

\ M W W o A = 1.8 éwwoc is an Isosceles triangle.

B0 | (1) EBC Is an isoscelss triangle. v’

=®
LO)
o2

M.» Lo \0 . .es >mnm is & paraltelogram.

[2)




srnm‘.
x.uﬁ,

13 gﬁ.rmm bought some food for 2 pary. w. of the food Bought .were sausages,

mo of the food bought were nuggets and the rest were chmmoxm A piece of sausage

vost 3 fimes as :E% as a plecs of nugget and 4 times as much as a piece of
crabstick.

Svontity " unit value
S.NC 1% (N 1§ 1C
sigis @it U wx@w
Lo, WD &9 _.
. " ~
15 u\ (A
(b) Wir Les spent $63 more on buying the sa than the nau%oxm ‘How much

id Mr Lea spend buying all the foad?

O - 2ty =
2y = b

W o= 633 ?L#m\%. b
1 FExuz, m

= 19b

@ 3 b 2

(8) What was the ratio of the total amount Mr Lee spenton the sausage @
amount muaa on the nuggets to the total amount spent on the zo_%

1

or any &A\Ea/gﬁﬁ\*

14

Figure 1 is made oq a three-quarter circle and a square.
"Figtire 2 ,m made of 3 mamscom_ pieces of Figure 1 without overlapping.

Figure 1

rs 1. Take n = 3,14

O,

Qx & 3% 314 nERE)
\BO-F2

(a) Find thewea

O
! 1

k- om 2

Ans: a)

Ans: b)

[39-04 ¢t

12




18  Rajoo formed a block and solid A using 1-cm wogden cubes.

16  Alshah used identical squares to form figure 1. She used identical figures 1 to b
~ He then painted all the faces of bath solids. other figures as shown.
Y / NUEUUNUIUR I AR It Dty i o
+ . side . mu\ﬂ H ﬁ )
<mm$\ EH .
L LA, <« solidA HL ) : 5
c_oMx front view Flgure 1 Figure 2 Figure 3 Figure 4
ey :
{a), At most, how many solids A can be formed uging the 1-cm cubes from the (a) Alshah measured the distance bstween the top and the botiom of each figu
block? The height of Figure 1 is 8 cm, Find the distance betwsen the top and |
. bottom of figure 4. .
o + 1= TRE lu =8+4=2
T gu= 8x2
Ans: mV. MMM - wW
{b) Find the smallest number of 1-cm cubes that should be added to solid A so
that the new solid has the same front view and side view. :
Ans: a) 1!@ bwm. |
™ m ‘ (b} Find the distance between the top and the bottom of figuire 19 as shewn belo
O B " Ans:b) ~ m — T
D e PV Sv I e
& Rajoo sorted all 1-om cubes from the block and solld A according to the U
number of faces painted. v LWW 7
()  Find the number of cube(s) with no facas painted. rT
_ =
- Figure 10
Ans: c)(i) i!.:.| [ fHu = 2x1)
() © Find the number of cube(s) with 3 faces painted. . e -9
(2x”)+3
= €42 " Anith)_ ARIM h
= 4 msagy L :
13 - 14



1 © %umsu WMMMMWWBm on page 14 find the area of 47  Mrs Shirley had red and green apples for sale. m of the apples sold were red
She sold 240 red apples. She also sold .m of his apples. m of the apples left v

. ) unsold were uam: How many red apples did Mrs Shirley have for sale at first?
EREXL — X > . . — m&..lu .T@wuw: awo
= 128 ~ K . @@@
uﬂv; .

sod [ 1 180 >

A T
Ao

E: A

Ans: 6O
(i) Figure 25, 4/ B0
4 oo (R lept)
,wfiu + @x. 6
= ugg + 64 2 300 + 20
= 5583 @ =50

>rm” WI.O [3]

16 Huw

3 Al
15









